N = 0l & At & M A

20188 = =0l & LB A St==Z
M ot=Z1t.
FH: ST HEANS (BHEES/MGI+E - +F)
& St=SFH SEH2AXNAASY (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
ot=Z 1t 43,859,281 60,406, 161 A 16,546,880
= 5,292,000
Al 38,567,281
St EAMSE (B EES/AGEE - &) 9,859,281 24,406,161 A 14,546,880
= 5,292,000
Al 4,567,281
St &Hl S 2l XNGAY 7,568,800 12,613,685 A5,044,885
= 5,292,000
Al 2,276,800
SANEUHSAMS(SAIFE LAY )<EE> 7,568,800 12,613,685 25,044,885
= 5,292,000
Al 2,276,800
401 AIEHI L 2 CHYI 7,568,800 12,613,685 25,044,885
= 5,292,000
Al 2,276,800
01 A& HI 7,040,000 11,900, 000 A 4,860,000
EZSAl ot=EFH S 22X ZAE==0
2 A 7,040,000, 0002 14! 7,040,000
= 5,292,000
Al 1,748,000
02 Zeltl 520,000 700,000 180,000
OXE&Al ot=EFHl SE2elXF ZAE==0
LAY HEAG22lEA 520,000,000 14 520,000
03 A2 2 0HHI 8,800 13,685 A4,885
OXE&Al ot=EFHl SE2elXF ZAE==0
YA Al R O
7,040,000,000& *0.25/100%50%<Z& 2+> 8,800
NEBSE ZelAY 1,939,221 1,688,088 251,133
=SEEY 2l 142,412 109,908 32,504
101 14 Hl 142,412 109,908 32,504
04 DI Z2XRHEE S 142,412 109,908 32,504
o"Z& &g 59,584
-Al sl=EnE 60,2403 x1E » 152 «7& 6,326
-&2d dl2gad 60,2403 «1H 152 6 5,422
-&dd slsgnd 60,2403 «1H +152 128 10,844
-SE B sy
60,2403 1B 15«78 6,326
-&Z slEsEad 60,2403 «1H 152 «7 3 6,326
=5 9=sgsy 60,240 x1E » 15U «7 & 6,326
== 60,2403 x1H +x25=F 1,506
=54 60,2402 x4H 30 7,229
=g 60,2403 x1H «52=F 3,133
A2 J&22E3 53,438,000& x11.5% 6,146




2N
X ZH -
L= B

el

SA-3H-S(3AH) - MRAS - BES Off &F o4 %Ei Hns2
OHF A7 JOEIAIZ Jbs oloitl (8H4)
60,240 * 18% x22 +73] 15,181
OBEXT 0S4 BE S25A8%(402)
60,2402 +8 % *22 %53 4,820
OUSHIR JIHNER U FUIRY S
94,338 +2F #3H 4 %22 23] 2,265
OUNESBOF MEXS (B 4H2)
60, 240! +3% #5H 4 %22 23] 3,615
O4UEE JlaRez 25,881,0002! *11.5% 2,977
OUSEIY #FFH(-ALR2 &E) 53,970
23 270,000% +21% +9% 51,080
=R T 140,0009! 212 2,940
WEHDY KA 1,796,809 1,578, 180 218,629
101 2121l 30,429 36,952 £6,523
04JIAH22RSES 30,429 36,952 16,523
ONGI+MSY 28 L PARE 22 30,429
lza 60,2402 +32 202 *6 2 21,687
“FE4Y 60,2409 +3% 255 4,518
AR EINSY 60,2402 3 +62! 1,085
SAUEE JIBELZ 27,290,008 +11.5% 3,139
201 Lyt HH| 885,525 765,905 119,620
01 At 22l bl 130,945 70,655 60,290
O1.get4gH| 98,955
SHSHIR AM AY YL 2Y YussY)
3,000,0009! 3,000
SUSEIN L ALY ASE(H
=9l 8l4) 110,000 *97H 4 *123] 11,880
SUSEDY MIINEBR HELLE 19,275
ECUSHIIS HA(HY, HE)
410,000 %304 A * 122 14,760
SIMSISEIXN? 4L (SEUHE, St
| Z&2H01, S3H2H0l) 4,515
129, 0002 %574 A «7 2
SUSEIY FIIAMN BLLE(AY B
SH.55) 1,200,00021 *4JH 4 * 18] 4,800
YSEHIY MIINFBE Y L 2Y(YE
EE SN SEIY) 60.000, 0002 60,000
O2.914 DS 4,600
UISHIE 29 MRIR(BITYI|LAY
sl) 300,000 62 13| 1,800
B SH 2RSS 300, 0002 *4% 23] 2,400
~HOIGE BN HE DS
10,0008 *42 *13] 400
O4.1 = 4| 990




EX: ot 1.
B SACHMAN(BEDE/MEEE - 2F)
Celt USEIE BN (B9 ®R)
(o
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
&= 130,000 x6H x 13| 780
-ot M 3t 35,000 *6H *13] 210
O5.2&H| 6,400
—HISEHIOIXN S22 A2 24
8,000 x8H 10 10 6,400
O6.Y X = 20,000
-ASE S 20| AXHEE S, 85,
PR =] ;000,000 *2CH x5l A~ *23] 20,000
02 22| 754,580 695, 250 59,330
O1L.2Z2Q3LHA 567,780
USEIN MBIMAMSE
1,300,000 x12& 15,600
-gd 2oy dMIANEES 504,000
el 3,200,000 x4 A~ 128 153,600
ek 2,600,000 x8IH A +12& 249,600
C N 700,000 1200 A x12& 100,800
20T HAAEI| A
350, OO %*1 M Aax128 46,200
-MD|otM 22| HalH (B2 E )= E3l)
100,000& *5H x 13| 500
-=2MA AMESI EE2 (U SsET
S22 HEZEX) 1,480,000 13| 1,480
O3. A2 &HHI KX HI 186,800
—HISEHIZA HHSK S8RYU(FRL 38)
1,400& %12,0004 16,800
~-HEEDTZ A2 L 2ASES (A2 1
HA) 130,000,000 130,000
“2HOEHDA e & 2228 (E4E2 10
H ) 4,000,000 1000 A 40,000
202 044 3,600 3,900 A 300
01 2L Y| 3,600 3,900 A 300
OYSEHIZIH 2% MIIMESWER U]
60,000& *7H x5 2,100
Otil=&4d 92u=x 0| 60,000 x5H 5 1,500
401 AlEHIZL 201 Y| 877,255 771,423 105,832
01 Al&H| 874,500 769,000 105,500
=CHSEHITA? 1A MW WX
100,000, 000& x 14! 100,000
Ol SEZA? 3N HMH&EdH =&
100,000, 000& x 14! 100,000
Ozl =& =X XY (500HP)
30,000,000& =104 30,000
Oyl o xd HIX™H|(50HP)
15,000,000& = 1CH 15,000
OXESAl ot==HFH| JI2H&E HE 84
605,500,000 * 1Al 605,500
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SNBSS
B SACHMAN(BEDE/MEEE - 2F)
Celt USEIE BN (B9 ®R)
5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
Ogte 3MA =2 2t F2LEH
6,000,000 =404 2~ 24,000
03 Al 2 THHI 2,755 2,423 332
OHESELZE FHl A&
874,500,000 *0.63/100%50%<& 2> 2,755
St AlIE (Ml 2L )ALS 351,260 521,152 A 169,892
ot=SC 4 Xl 351,260 521,152 A 169,892
401 AIEHIZL 28I 351,260 321,152 30,108
01 A& Hl 350,000 320,000 30,000
SO MBI B4 NS U FL
150,000, 000& 14 150,000
O=% S0t ot=& EXZA
100,000, 000& 14 100,000
OFJl tH&el ot=Ald SXI3AH(F2IR )
80,000,000& =14 80,000
OFJl ¥&al ot== HAXSA(F2HC)
20,000,000& =14 20,000
03 Al 2 0HHI 1,260 1,152 108
Odt=Z 3 At AIE 201 HI
350,000,000 *0.72/100%50%<& 2> 1,260
MRS (6t (174)) (#HES /465 - =2) 34,000,000 36,000,000 22,000,000
HEHHX S 34,000,000 36,000,000 22,000,000
SINgEEZ(Gt=%) 34,000,000 36,000,000 22,000,000
701 JIEtSI HEHES 34,000,000 36,000,000 22,000,000
03 BIILELEINHMNENES 34,000,000 36,000,000 A 2,000,000
Odt+==3IIEEE3H HES
34,000,000, 000& 34,000,000




